1. Which of the following is a correct statement?
A. Writing off an uncollectible account under the allowance method decreases net income.
B. In the allowance method, uncollectible accounts expense is only recorded when the year-end estimate of future bad debts is recorded.
C. The net realizable value of accounts receivable decreases when an uncollectible account is written off using the allowance method.
D. Both A and C are correct.
2. Bennett Company began operations on January 1, 2014, and experienced the following events during the year:
	1. Earned $100,000 of revenue on account
	2. Collected $80,000 cash from accounts receivable
	3. Paid $62,000 for operating expenses
	4. Adjusted the accounting records to reflect management’s belief that $2,000 of the accounts receivable balance would be uncollectible.  Bennett uses the allowance method for accounting for uncollectible accounts.
What is Bennett’s net income for 2014?
A. $38,000
B. $18,000
C. $36,000
D. $16,000
3. Bennett Company began operations on January 1, 2014, and experienced the following events during the year:
	1. Earned $100,000 of revenue on account
	2. Collected $80,000 cash from accounts receivable
	3. Paid $62,000 for operating expenses
	4. Adjusted the accounting records to reflect management’s belief that $2,000 of the accounts receivable balance would be uncollectible.  Bennett uses the allowance method for accounting for uncollectible accounts.
What is Bennett’s net realizable value of accounts receivable on December 31, 2014?
A. $18,000
B. $20,000
C. $2,000
D. $22,000
4. Harris Company began 2014 with $50,000 in accounts receivable and $4,000 in its allowance for doubtful accounts.  During the year, Harris recorded sales on account of $250,000 and collected $260,000 from customers.  Harris also wrote off $1,500 in uncollectible accounts.  On December 31, 2014, Harris estimates that 2% of credit sales will be uncollectible. What will Harris report as uncollectible accounts expense for 2014?
A. $1,500
B. $7,500
C. $5,000
D. $3,500
5. Harris Company began 2014 with $50,000 in accounts receivable and $4,000 in its allowance for doubtful accounts.  During the year, Harris recorded sales on account of $250,000 and collected $260,000 from customers.  Harris also wrote off $1,500 in uncollectible accounts.  On December 31, 2014, Harris estimates that 2% of credit sales will be uncollectible. What will Harris report as the net realizable value of its accounts receivable on December 31, 2014?
A. $32,500
B. $40,000
C. $36,500
D. $31,000
6. Conrad Company began 2014 with $30,000 in accounts receivable and $2,000 in its allowance for doubtful accounts.  During the year, Conrad recorded sales on account of $120,000 and collected $112,000 from customers.  Conrad also wrote off $1,500 in uncollectible accounts.  On December 31, 2014, Conrad estimates that 10% of its accounts receivable balance will be uncollectible. What will Conrad report as uncollectible accounts expense for 2014?
A. $1,650
B. $3,150
C. $12,000
D. No entry is necessary because there is already a sufficient amount in the allowance for doubtful accounts.
7. Blair Company wrote off an uncollectible receivable with a $600 balance.  Which of the following is the correct journal entry to record this assuming Blair Company uses the allowance method for accounting for bad debt?
A. [image: ]
B. [image: ]
C. [image: ]
D. [image: ]
8. On December 31, 2014, Martinez Company estimated that $12,000 of its accounts receivable would be uncollectible.  Which of the following is the correct journal entry to record this adjustment assuming Martinez Company uses the allowance method for accounting for uncollectible accounts?
A. [image: ]
B. [image: ]
C. [image: ]
D. None of the above.
9. Grindle Company uses the allowance method four accounting for bad debt and wrote off an uncollectible account of $500.  Which of the following accurately depicts the effect the write-off will have on Grindle’s financial statements?
     [image: ]
A. [image: ]
B. [image: ]
C. [image: ]
D. [image: ]
10. Joseph Company uses the allowance method and estimates that $1,000 of its accounts receivable will be uncollectible.  Which of the following accurately depicts the effect of the year-end adjusting entry to record this estimate?
     [image: ]
A. [image: ]
B. [image: ]
C. [image: ]
D. [image: ]
11. Carter Company received a payment from a customer whose account was previously written off.  Carter Company uses the allowance method for accounting for uncollectible accounts.  Which of the following accurately depicts how this event would affect Carter’s accounting equation?
     [image: ]
A. [image: ]
B. [image: ]
C. [image: ]
D. [image: ]
12. During 2014, its first year of business, Booker Company earned $250,000 of service revenue on account.  The company collected $220,000 of those receivables and wrote of a $1,000 uncollectible account.  The company estimates that 12% of its accounts receivable balance will be uncollectible.  What will Booker show as the balance in Allowance for doubtful accounts on its December 31, 2014 balance sheet?
A. $2,480
B. $29,000
C. $3,600
D. $3,480
13. Although the majority of Sparkle Cupcake Company’s sales are for cash, it still makes a significant amount of credit sales to local restaurants.  During 2014, its first year of operations, Sparkle experienced the following:
[image: ]
Assuming that Sparkle uses the allowance method for accounting for uncollectible accounts and estimates that 1.5% of its sales on account will not be collected, what is the ending balance of Allowance for doubtful accounts at December 31, 2014, after all entries and adjusting entries have been posted?
A. $1,800
B. $2,300
C. $1,300
D. $480
14. Although the majority of Sparkle Cupcake Company’s sales are for cash, it still makes a significant amount of credit sales to local restaurants.  During 2014, its first year of operations, Sparkle experienced the following:
[image: ]
Sparkle uses the allowance method for accounting for uncollectible accounts and estimates that 1.5% of its sales on account will not be collected.  Assuming Sparkle records $300,000 of operating expenses, what is Sparkle’s net income for 2014?
A. $70,000
B. $68,200
C. $68,700
D. $67,700
15.  Which of the following is a false statement regarding companies that use the allowance method for accounting for uncollectible receivables?
A.  Write-offs of uncollectible accounts have no effect on total assets.
B.  Write-offs of uncollectible accounts have no effect on net realizable value of accounts receivable.
C.  Uncollectible accounts expense is influenced by the beginning balance in allowance for doubtful accounts if the company estimates based on percentage of credit sales.
D.  Uncollectible accounts expense is influenced by the beginning balance in allowance for doubtful accounts if the company estimates based on percentage of ending accounts receivable.
16. Delaware Company began 2014 with $55,000 in Accounts receivable and $6,000 in Allowance for doubtful accounts.  During the year, Delaware collected $275,000 from accounts receivable and wrote off $5,200 in uncollectible accounts.  At year end, Delaware recorded $7,000 in uncollectible accounts expense.  The net realizable value of their accounts receivable on the December 31, 2014 balance sheet was $68,000.  Based on the above, what were Delaware’s sales on account for 2014? 
A. $280,200
B. $288,000
[bookmark: _GoBack]C. $301,000
D. $295,800
17. Franklin Company accepted credit card payments of $6,000 for services rendered to its customers.  The credit card company charges Franklin Company a 3% fee for handling the transactions.  Which of the following is the correct journal entry to record these credit card transactions?
A. [image: ]
B. [image: ]
C. [image: ]
D. [image: ]
18. Franklin Company accepted credit card payments of $6,000 for services rendered to its customers.  The credit card company charges Franklin Company a 3% fee for handling the transactions.  Which of the following is the correct journal entry to record collection of the amount due from the credit card company?
A. [image: ]
B. [image: ]
C. [image: ]
D. [image: ]
19. Garber Company accepted a credit card payment of $500 for services rendered to a customer.  The credit card company charges Garber a 4% fee for handling the transaction.  Which of the following represents the effect of recording the transaction on Garber’s financial statements?
     [image: ]
A. [image: ]
B. [image: ]
C. [image: ]
D. [image: ]
20. Hanson Company accepted a credit card payment of $220 for services rendered to a customer.  The credit card company charges a 3% fee for handling the transaction.  Which of the following accurately depicts how the collection of the receivable due from the credit card company would affect the company’s financial statements?
     [image: ]
A. [image: ]
B. [image: ]
C. [image: ]
D. [image: ]
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